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B R 1T H| 1,093 1,845| 1,004 841 [ 1 T H 830 | 1,537 775 762
B W2 T H 798 | 1,432 713 79| |F 2 T H 366 636 333 303
B R 3T H| L177| 2,122 1,057 1,065| [ 3 T H| 1,098 | 2,045| 1,004 1,041
B W4T H 734 | 1,293 673 620| |7 4 T H 410 777 349 428
WA 1T H 546 | 1,011 495 516 | |BW )2 1 T H 824 [ 1,310 652 658
o o#& 2 T H 605 | 1,075 518 557 | |BW 2 2 T H 489 799 399 400
KEBLT H 589 987 501 486 | [t ¥ 1T H 542 897 458 439
KEE2T H 709 | 1,356 664 692 | (A E®2 T H| 1,369 | 2,429 | 1,285 1,144
KEB3IT H 848 | 1,509 763 46| |F &1 T H 911 | 1,720 848 872
KEE4T H 313 500 270 230 [F & 2 T H| 1,489 2,732 | 1,308 | 1,424
ERE®S T H 775 | 1,330 716 614 |F & 3 T H| 1,062] 1,755 851 904
BB 1T B 637 | 1,197 603 594 | | &= 1 T B 540 859 447 412
B 2T H 483 904 464 440 | MR = 2 T H| 1,079 1,729 921 808
B oAr 1 T B 294 422 235 187 | |#2 B 3 T B[ 1,497 2,791 | 1,341 | 1,450
Al 2 T H 587 953 461 492 | #R B 4 T HB| 1,222 2,449 1,181 | 1,268
AT = 674 | 1,127 557 570 | |4 &+ 5 T H| 1,811| 3,611 | 1,758 | 1,853
B Al 4 T H| 1,087 | 1,934 971 93| (A& 1 T H| 1,569 | 2,876 1,390 | 1,486
MNE 1T B 923 | 1,577 782 795 | A 42 2 T H| 1,153| 2,223| 1,091 | 1,132
N E 2T H 649 | 1,217 598 619| |B R 1 T H| 1,066| 2,012 999 | 1,013
=% 17T H 951 | 1,762 866 896 | |m & 2 T H| 1,123| 2,434 | 1,180 | 1,254
= 2 1T H 899 | 1,664 862 802 | |/ & 3 T H| 1,429 2,591 1,303 | 1,288
®oOEH 45 53 37 16| (a1 7T H 535 991 510 481
%% 1 T H 337 594 270 324 | ka3 2 T Bl 1,001 | 1,900 962 938
8% 2 T H 73 120 63 57| ke84 3T Bl 1,096 | 1,999 | 1,062 937
% 3 T H 308 550 297 253 | (s w4 T B| 1,247 2,238 1,108] 1,130
8 4 T H 37 71 34 37| |HE&EELT H 455 775 380 395
% 57T H 313 482 249 233 | (W& E 2T H| 1,322| 2,066 | 1,080 986
8 6 T H 141 264 139 125 | e & B3 T B| 1,417 2,594| 1,311 1,283
% 7T H 525 969 494 475 |[E M1 T H 712 1,304 627 677
W EB1T A 543 965 484 81| [EM 2T H 839 | 1,460 707 753
w2 T B 327 545 256 289 | |¥& B 1 T H 769 | 1,449 721 728
W EB3T A 758 | 1,358 636 722 | | * 2 T H| 1,345 2,370 | 1,196 | 1,174
W4T B 573 928 484 444 | |¥%& ¥ 3 T H| 1,426| 2,481 | 1,181 1,300
W EB5T A 761 | 1,433 736 697 | |¥& ® 4 T H| 1,377| 2,498 | 1,259 | 1,239
W EEe6 T H 862 | 1,702 826 876 | | ¥ 5 T H| 2,064| 3,913| 2,007 | 1,906
TTEELT B 918 | 1,688 880 808 | | ® 6 T H| 1,401| 2,716 1,330 1,386
T 2T B 430 734 389 345 | [ #= 7 T H 373 691 345 346
L HE3 T B 970 | 1,764 896 868 | |HEJII =1 T H 553 | 1,055 528 527
TLEEAT B 675 1,300 625 675 | [HEJIIF 2T A 664 | 1,236 612 624
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T ® 17T H 877 | 1,646 844 802
T H 2T H 938 | 1,763 891 872
T 3 T H| 2,035| 3,293 1,792 | 1,501
T % 4 T H| 1,685 2,661 1,548 | 1,113
A F 1T H 677 | 1,247 611 636
A F 2 T Al 1,447 2,744 1,452 1,292
WEE1LITH 774 | 1,584 830 754
WEHE2T H 790 | 1,548 843 705
¥ % 1 17 HA| 1,701 | 3,555| 1,857 | 1,698
Y% 2 7 Al 1,148 2,192 1,081 | 1,111
W )1 T H| 1,156 | 2,078 | 1,174 904

W )il 2 T H| 2,785 3,666 | 2,656| 1,010

HARSELTT H| 1,944 2,837 1,962 875

HALE2 T Hl 1,896] 3,185| 1,826 [ 1,359
= /W1 T H| 1,230 2,077 | 1,024 1,053

— w21 H 423 733 387 346
M2zl T B 224 421 198 223

Mz w2 T H|l 1,082 1,858 912 946

.z w3 T H 234 403 206 197

w4 T H 744 | 1,410 659 751
R /N 138 217 152 65
B ALITH 678 | 1,324 640 684

LEREA2T H 452 920 452 468

rH 1T H 417 785 354 431
N A = 899 | 1,642 786 856
A 3T H| 1,458 2,664 1,249| 1,315
® 4T H 290 547 271 276
®H 5T H 481 861 412 449
® 6 T H 196 388 183 205
® 7T H 590 | 1,072 513 559
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